
＜中 2 分野 計算プリント№12 解答＞ 連立方程式 ② 

数学研究所 

 氏名（ ） 点数       

（1） （2） 

 

 

  

 

 

 

 

 

（3） （4） 

 

 

  

 

 

 

 

（5） （6） 

 

 

 

 

 

 

 

 

（7） （8） 

 

 

 

 

 

 

 

4 6

3

x y

x y

 

 

3 5

2 2

x y

x y

 

  

8 18

3 4 6

x y

x y

  

   

5 4 3

3 6 15

x y

x y

  

 

③を②に代入 

－ 

（①）-（②）
4 6

3

3 3

1

x y

x y

y

y

 

 



 　…③

2

1

x

y



（答）      

1 3

2

x

x

 



－ 

（①）-（②）

3 5

2 2

7

x y

x y

x

 

  

 　…③

③を①に代入 

7

16

x

y



 （答）      

21 5

16

y

y

 

 

［解］ ［解］ 

…①

…②

…①

…②

…①

…②

③を①に代入 

＋ 2

（①）

（② ）

8 18

6 8 12

5 30

6

x y

x y

x

x

  

   

  

 　…③

6

3

x

y



（答）      

6 8 18

8 24

3

y

y

y

  

  



［解］ 

③を①に代入 

＋ 

3

2





（① ）

（② ）

15 12 9

6 12 30

21 21

1

x y

x y

x

x

  

 



 　…③

1

2

x

y



（答）      

5 4 3

4 8

2

y

y

y

  

  



［解］ 

…①

…②

［解］ 

2 3

3 5

x y

x y

 

  

3 4 1

2 3 1

x y

x y

 

  

③を①に代入 

＋ 

3（① ）

（②）

3 6 9

3 5

7 14

2

x y

x y

y

y

 

  



 　…③

1

2

x

y

 

（答）      

4 3

1

x

x

 

 

－ 

2

3





（① ）

（② ）

6 8 2

6 9 3

5

5

x y

x y

y

y

 

  

 

  　…③
③を①に代入 

7

5

x

y



 （答）      

3 20 1

3 21

7

x

x

x

 





［解］ ［解］ 

…①

…②

…①

…②

3 4 1

4 3 6

x y

x y

  

  

2 3 7

5 7 3

x y

x y

 

 

③を①に代入 

＋ 

4

3





（① ）

（② ）
12 16 4

12 9 18

7 14

2

x y

x y

y

y

  

  

 

  　…③

3

2

x

y

 

 （答）      

3 8 1

3 9

3

x

x

x

  

 

 

③を①に代入 

－ 

5

2





（① ）

（② ）

10 15 35

10 14 6

29 29

1

x y

x y

y

y

 

 

 

  　…③

2

1

x

y



 （答）      

2 3 7

2 4

2

x

x

x

 





［解］ 

…①

…②

…①

…②


